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M.Com. (Final) ABST Examination, 2017
ADVANCED FINANCIAL MANAGEMENT

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(|re-3)
Answer all questions (50 words each).
All questions carry equal marks.
Tt 77 ofEd & TEE T W OIW 50 T W
A 7 | Tt I B 5F TER F)

PART-B [Marks : 50]
(| ve-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

T THE | TH-U&% T 970 g, 9 Ui § &I
T W H IW 250 v @ w7 A
st I # ofk qm
PART-C [Marks : 30]
(@ve-4)
Answer any two questions (300 words each).
All questions carry equal marks.

FE I Y FAU TEF G H IE 300 V= @
fyw 9 8 T W B oiF ' A T
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(1)

(i)

(iv)

)

(vi)

PART-A
(Tue-31)
UNIT-I
@FTE-1)
What is time value of money ?
g1 H 999 o9 w82
What is an Annuity ?
w A T

UNIT-II

(¥eFTé-10)
What do you mean by Uncertainty ?
Ffraam € 99 T AR &7
Define Decision Tree.

frofoeett 1 wHEEw

UNIT-11I

(FFTE-110)

What do you mean by ‘Fair-Value’?
‘-9 ¥ 9w oEwE ¥
What is Financial Restructuring ?

foada e = 2 2
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2.

(vii)

(viii)

(ix)

x)

UNIT-1V

(FHE-IV)
State any two features of Optimal capital structure,
TEE T T W e @ et
EIE
Give formula for calculating value of the Firm (V)
in Net Operating Income Approach.

Y& WEem 99 sEyRw ® 99 TH H g[a
T 9@ ®E w1 gF L

UNIT-V
(FFTE-V)
What is meant by ‘Swaps’?
WY 7 oEe-wee W own awm )
What is the difference between Futures and
Forwards ?

Tt & ofim ¥ wn sw #2

PART-B
(Guz-m)
UNIT-~I

(gD

Distinguish between Compounding and Discounting
techniques.

Hgls T@ WA awAl § W I i
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OR (31eam)
3. (a) Apersoninvests T 1,00,000. The bank provides an
interest of 12% quarterly compounding. How much
will the investment be after 5 years ?

T A T 100000 fafrifm w81 8% 12%
Iafes =wwafs =@ 2m ¥ fafEm 5 o wwE
fa & sEm?

(b)  What is the present value of an investment that yield

T 500 to be received in five years and T 1,000 to be
received in ten years if the discount rate is 4% ?

w fafEm = wdem e | € W e a
¥ Ts500 2 %, o mm oA A 21000 R E,
X TG W 4% BN

UNIT-II

(FE-1I)

4.  Explain the Sensitivity Analysis. What are its objects ?
Togaeie dedE H TEEY w8
OR (H¥4n)
5. Mehta Limited has T 10,00,000 allocated for capital

budgeting purposes. The following proposals and
associated profitability indexes have been determined :

e fafs 4 IS woRw Ry @ faw T 10.00,000
amafea fad &) FrefafEe v @ daf@ avREsa
o fifa R €
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Projects Amount ) Profitability Index
(dfeeTd) (T (3))  |[(omEsa i)
1 3,00,000 2
2 1,50,000 0.95
3 3,50,000 1.20
4 4,50,000 1.18
5 2,00,000 1.20
6 4,00,000 1.05

Which of the above investments should be undertaken ?
Assume that the projects are individuals and there is
no alternative use of the money allocated for Capital
Budgeting.

IF 4 ¥ I8 fafEm B2 w2 w® owfn fs
e sfaeer § T T5f awed ¥g swfen wfh
# o= w IgEm T 2

UNIT-I1I

(eré-1I)
6. Inthe the current year, a firm has reported a profit of T 65
lakhs, after paying taxes @ 35% on close examination, the
analyst acertains that the current years income includes :

T w8 A TR 9¥ H 35% H W TREE FH F AR
T 65 om@ W oW AR fem wsdet e w
Tvar, favews ¥ I o6 ® fra W e 99 fE
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(i)  Extraordinary income of ¥ 10 lakhs.
T10 @ #) SENRT )

(i)  Extraordinary loss of ¥ 3 lakhs.
T3 I8 W SFENMRT FH

Apart from existing operations, which are normal in nature
and are likely to continue in the future, the company
expects to launch a new product in the coming year.

frrm frad SifE s weft 31 € @ whis o
9 I B, F o e oM A e §
™ IR ® TR B AW @ ¥

Revenue and cost estimates in respect of the new product
are as follows :

T IR H TEY H AE U oFW w1 AR e ¥

(T lakhs)
Sales 60
Material Cost 15
Labour Cost (Additional) : 10
Allocated Fixed Costs 5
Additional Fixed Costs 8

PFrom the given information, compute the value of the
Business, given that Capitalisation rate applicable to such
business in the market is 15%.

F W gETe ¥ FEEE W g dW &ifvw, Ik W
TWE # A9 & HEO w TR F O15% B
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OR (31Er)
7. Why is the business valuation exercise undertaken by
corporate finance managers and investors ?

frm fadm wEve @ fafmim g =EEm gea-fuRm
= fr s #2

UNIT-1V

FFE-1V)
8.  Differentiate between Net Income Theory and Net Oper-
ating Income Theory.
S AE FEYRO TE Y& RATH 9 @R F HeF
. wifm
OR (3eEm)
9. There are two firms P and Q which are exactly identical
except that P does not use any debt in its financing, while
Q has T 4,00,000, 10% debentures in its financing. Both
the firms have earnings before Interest and taxes of
< 3,20,000 and the after tax capitalisation rate is 16%.
Assuming the corporate tax of 50%. Calculate the value of
the firm according to M-M hypothesis.

P Q® wH, Sifs vam & #aa & % P 3 ot
T # w=R o o wE o wwfE Q 7 T4,00,000 B
10% HUR W 52 A T A =S i W e
3320000 T8 T v TR T 16% ¥1 PR F #
T 50% HAT ET TH-TUH SGURO / UEFeq $ MR W
% F YT IA RIS
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10.

11.

12.

13.

UNIT-V

(FFE-V)

What are ‘Options’? Explain the different types of options ?
fawen ¥ T2 faf= wwR # faEen # OwEmul
OR (=)

What is lease financing ? How is it useful to the companies
meeting long term finance needs ?

w1 fe-gfd &2 wmtE w2 Sewee o eravaswm
F W FA N TE B wEE@ H R0

PART-C
(gue-9)

UNIT-I

FHE-1)

Why is time value of money is important in financial
decision-making ? How can time be adjusted ?

fada fole § 9@ w1 T g F wEwq ¥ T
w woEeE fRy wER fFm W owea #2

UNIT-II

(FTE-1I)

A company is considering a new machine, The net cash
flows have been estimated as follows :

T wEA O oA w R oW @ f g TR
ST fre safm fed T E
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14.

Year 1 |Probabiltiy| Year 2 {Probability
T 4
Net cash flow 10,000 0.4 8,000 0.5
12,000 0.5
Net cash flow 12,000 0.6 16,000 0.4
20,000 0.6

The cost of the machine is T 20,000 with an estimated life
of two years and the cost of capital of the firm is 12%.
Use a decision tree approach to recommend whether the
equipment should be purchased or not ?

el & @ T 20000; AT SER w2 96 Ud
wH # Qe R T 2% B FroRaeel swEumon #3
H gu gEe e fF miA w3 s =fer @ e

UNIT-I1I

(FehT3-111)

A Ltd, wants to acquire T Ltd. by exchanging 0.5 of its
shares for each share of T Ltd. The relevant financial data
are as follows :

‘e fafmee, ‘T A @ T oM F T oW
a9 ® 0.5 W ¥ afurfed w1 A ¥ faefm www
e ywr @ ¥
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Particulars A Lid. T Ltd.
EAT ) 18,00,000 | 3,60,000
Equity Share Qutstanding 6,00,000 | 1,80,000
EPS }R) 3 2
P/E Ratio (Times) 10 ¥
Market price per share (%) 30 14
Required :

I #ifey

(a)  What is the number of equity shares required to be

(b)

(c)

(d)

©

issued by A Ltd. for acquisition of T Ltd. ?
‘2 fafie % ofunfem w0 W ‘o' fafiRs =

frm @ @ W S ow?

What is the EPS of A Ltd. after the acquisition ?
Ffimenr % IR ‘&' fafez # W v el
= w?

Determine the equivalent earnings per share of
TLud?

‘2’ fafie # ange W oW R 9 st
What is the expected market price per share of
A Ltd. after the acquisition, assuming its P/E multiple
remains unchanged ?

‘' fafe w1 R s TR T s ®
IR T OB, TF WA T R er-ol oTum
e war &2

Determine the market value of Merged Firm.

foom o4 =1 TR = 9@ e
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18,

UNIT-IV

(FFTE-IV)

Ram Limited has Net Operating Income of ¥ 2,00,000
on an investment of ¥ 10 lakhs in assets. It has debt of
T 3,00,000 at 16% rate of interest. Assume that taxes do
not exist.

W fafee =1 T 10 9w ot A fafeem # ar
& ofEem o T 2,00,000 ¥ OTWE UE 16% A
| WY T300000 B WO ¥ oW W RO
sufee &

(a)

®

Using Net Income Approach and an equity
capitalisation rate of 18%; compute the total value of
the firm and the overall cost of capital.

Y& T YR H FIA L TE 0 ISR
W 18% T TC TH W HE W 0§ g ge
F AW W RIS

Using Net Operating Income Approach and an

overall capitalisation rate of 12.5%; compute the total
value of the firm, value of shares and cost of equity.

& EER 9@ sEuwon @ age g e X
12.5% WFY TW HH B HA A, A w T
TE HEG F A F@ Rt

5803-F/1820/555/121 1 [PT.O.



UNIT-V

(FFTE-V)

16. What are the different kinds of Financial Derivatives and
also state their features ?
fadr Rl # R wR PR ¥ owe T
fasiwmsti #1 off auiv s
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